
SAP ABAP table TBAS_DCS_MIC_CTY {Structure for TBAC_DCS_MIC_CTY}

TBAS_DCS_MIC_CTY

CLIENT [CLNT (3)]

DCSID [CHAR (6)]

MIC [CHAR (4)]

DCS_TICK_CURR [CUKY (5)]

T000

MANDT [CLNT (3)] TBAS_DCS_MIC_CTY-CLIENT = T000-MANDT 0..N

0..N

TBAC_DCS_MIC

CLIENT [CLNT (3)]

DCSID [CHAR (6)]

MIC [CHAR (4)]

 TBAS_DCS_MIC_CTY-DCSID = TBAC_DCS_MIC-DCSID 
0..N0..N  TBAS_DCS_MIC_CTY-MIC = TBAC_DCS_MIC-MIC 
0..N0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 TBAS_DCS_MIC_CTY-DCS_TICK_CURR = TCURC-WAERS 

0..N

0..N


